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Direction : Answer the following questions by selecting the most appropriate option.
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1. To cooperate the adolescent it 1s
essential to
(1) Inspire
(2) Indicate his mistakes
(8) Criticise him
(4) Do negative behaviour

2. Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline
(4) Over-protection

3. Which of the following is a wrong
statement about emotions of an
adolescent ?

(1) Emotional expressions are
modified by learning.

(2) Emotions are permanent.

(3) Every emotion is accompanied by
a feeling.

(4) Emotions are aroused by external
stimuli.

4. Inclusive education means

(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in
different classroom.

(3) Meeting individual differences in
special schools.

(4) Meeting individual differences in
home based instruction.

P O
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In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral values can be effectively

inculcated among the students when
teacher

(1) Frequently talks about values.
(2) Himself practices them.

(3) Tells stories of good persﬁns.
(4) Talks of Gods and Goddesses.

Critical thinking helps a person in

developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and
something.

constructing

(4) thinking about ways of reacting.
Best method of dealing with adolescent
by parents and teachers is

(1) Autocratic

(3) Democratic (4) Restrictive

(2) Permissive

Which of the following is not a
characteristic of social development in
adolescence ? '

(1) Active member of their peer

group

(2) Being an attraction towards
opposite sex

(3) High decrease in friendly
relationship

(4) Extension of special interests
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10.

11,

12,

13.

14.

A

‘An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(8) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the
problem of

(1)
)

Speaking accurately
Writing  without

mistakes

committing

(3
(4) Doing mathematical calculations

Listening message properly

Continuous and  Comprehensive

Evaluation (CCE) aims to evaluate

(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) The knowledge of child only.

(4) The understanding of child only.

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy
(4) Novelty

Learning outcomes means
(1) Change in the behaviour of the
student.

(2) Change in teaching method of the

teacher.

(3) Recognization of the subject-

matter.

(4) Completion of content.

P.T.0.
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16.

17,
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Differentiation of emotions takes

place at the time of

(1) Birth of child

(2) During infancy

(3) During the period of adolescence

(4) During adulthood

Which of the following provision is
not suitable individual
differences among learners ?

(1)
(@)

to meet

Their abilities should be assessed.

Adequat.e facilities and material
should be provided.

3)
(4)

Labelling them.
Making Individualisation necessary.

Working with adolescents,
particularly maladjusted one, which is
not appropriate ?

(1) Critical approach
(2) Democratic approach
(3) Collective approach
(4) Ideal approach

Heredity plays most important role in
the

1)

Emotional development of the
child

2
3
(4)

Social development of the child
Physical development of the child

Cultural development of the child
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19.

20.

21.

22,

~ Which

A

The knowledge of principles of
learning is must for a good teacher,

because

(1) Tt helps in maintaining discipline.

contenf

(2) It
interesting.

helps to make

(3) It helps to understand the content
by simple methods.

(4) It saves time.

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity

(3) Validity (4) Subjectivity

of the
characteristics of

the
constructivist

following is

classroom ?

(1) Students
draws conclusions and compare
their findings.

design experiments,

(2) Knowledge is objective, universal
and complete.

(3) Teacher transmits authoritative
knowledge to students.

(4) Students look for
answer,

the 'right'

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

P.T.0.
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23.

24,

25.

26.

27.

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is
example of

an

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

That internal state of mind that

arouses, directs and maintains

behaviour is called as

(1) Interest (2) Opinion

(3) Attitude (4) Motivation

Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this
development is called

(1) Bilateral to unilateral
(2) Proximodistal

principle of

(3) General to specific
(4) Cephalo Caudal
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28.

29.

30.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2) Extrinsic motivation
(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not

- correct about learner centred approach ?

It takes into account learner's
capabilities,

1)

capacities and
learning styles.

(2) It stresses the importance of

enquiry,

investigation.

3) It transmitting

knowledge to the learner by the

observation and

emphasises

teacher.

(4)

It uses methods like experiential
learning, problem solving, concept
mapping and creative writing.

A child's attitude 'l do not care' is a

type of behaviour which can be
called

(1) Aggression
(2) Defence
(3) Denial

(4) Retrogression

Level-3/176
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60. TN e B A Frr
(1) sy
(2) IO & SR
(3) I & HCEX H T FA
(4) =T AR e

Level-3/176
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HIT - 111/ PART - III

ST - 11 ($FM)/LANGUAGE - IT (ENGLISH)
Direction :  Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above °

sentence indicates
(1) . Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is
given :

Copli.csi = Plentiful

Level-3/176

64.

65.

66.

‘T don't enjoy going to the dentist’
The word

sentence is a/an

'‘going' in the above

(1) Present participle
(2) Infinitive
(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :
Mother said, "Don't go to the park."

(1) Mother asked us not to go to the

park.

(2) Mother told us not to go to the

park.
(3) Mother said us not to go to the

park.
(4)

Mother said to us to not to go to
the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine



67.

68.

69.

http://haryanatet.com

Choose the correct

passive

construction of the sentence :

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at

auction,

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting will be selling at

auction.

Identify the ﬁgure of speech in the

following sentence :

I must be cruel, only to be kind.
(1) Epigram

(2) Paradox

(3) Analogy

(4) Metaphor

Which of the following words is mis-

spelt ?

(1) incongruous
(2) chronological
(3) synchronus

(4) sympathetic

Level-3/176
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A

Direction : (Q. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

70.

71.

72.

(1)

(2)

3

(4)

(1)

(2)

3

(4)

(1)

(2

(3)

(4)

My brother is the student in
Mayo College.

My brother is student of Mayo
College.

My brother is a student in the
Mayo College. '

My brother is a student in Mayo
College.
Neither of them were present

there.

Neither of them was present

there.

Neither of them present there.
Neither of them are present
there.

The roses smell sweet.

The roses smell sweetly.

The roses are smelling sweetly.

The roses are sweetly smelling.

P.T.O.
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74.

75.
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(1) You certainly did not ought to do
1t

(2) You certainly ought not to have

done it.

(3) You certainly did not ought to

have done it.

(4) You certainly ought not to have

been done it.

(1) Who was the book given to ?

(2) Who the book was given to ?
(3)

The book was given to who ?

Whom was the book given to ?

4

Choose  the correct phonetic

transcription of the word 'Locate'
(1) ﬂu%{etf

(2) /lokeit/

(3) /Nou'keit/

(4) /Nouket/

Level-3/176

(16)

76. Choose the correct direct speech of

g je

78.

the given reported speech :
He said I'd better go because it was late.

(1)

He said, "You'd better go because
it's late."

(2) He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late."

(4)

He said, "You'd better go because

it was late."

Which of the following is spelt

correctly ?

(1) Pediatrician
(2) Padritician
(3) Pedaitrician

(4) Pidiatrician

In which of the following sentences do

we need to insert the definite article
‘the’ ?

(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals',
(3) Why do people work ?

(4) They are different from rest.
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79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said [ wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.

(3) My father put his foot down when

I said I wanted a car for my

seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time
(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions

by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/176
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A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites is the utter absence of all

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for

we cannot pronounce on what we do not

" know; and on the other hand, the laying in

of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the

of mind which

necessary to its receiving and giving their

unbiased freedom is

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P20



82.

83.

84.

85.

v €1}
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What is not a requisite of common

sense ?

(1) the wutter absence of all
pretension

(2) bigotry and narrow minded
notions

(3) truth and propriety

(4) an unbiased freedom of mind

Which of the following is not stated

by the writer in the passage ?
Affectation  destroys -common
sense.

(2) Commodn sense relquirea the
utmost simplicity and sincerity.

(3) Common sense feels the air of
truth and propriety as the fingers
feel objects of touch.

(4) Common sense destroys the
native simplicity and warps and
trammels the freedom of mind.

Fill. in the blank with the most

appropriate word :

Common sense has been well

pronounced to be ‘fairly worth the

seven’ ...........

(1) Notions (2) Sciences

(3) Talents (4) Wits

Which is not a synonym of the word

'pedant' ?

(1) dogmatist
(2) formalist

(3) perfectionist
(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

86.

87.

88,

89.

90.

c+seeeneeee Child should learn to read and

write.
(1) Al (2) Every
(3) Whole (4) Both

Can I ask your ..........., do you think

TV violence is harmful ?

(1) opinion (2) favour

(3) question (4) advice

Where is my wallet ? I left it ............

the kitchen table.,
(1) at (2) in

(38) on (4) by

Take some medicine and the pain will

80 e, .
(1) back (2) off

(3) out (4) away

The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
(3) walked; walked

(4) have been walking; had walked

Level-3/ 176
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H -1V / PART -1V

g {35/ CHEMISTRY
R - P get & gt 37 % fre e e [T g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92,

93.

94.

Prferfiag arfufeear o
A—KMO4 , c H.COOH
(0]

Tel 'A'R

(1) C,H,CH,

@ C,H,NH,

3) C,H,-NO,
4) C,H.NH -CH,

W9 omfEn e @ PO, & WY ™
Rear SIem B, @ W 3@ erT

(1) udEe
(2) TATAIEEEA
(3) AR
(4) URERHEN

Prefafag & & frasl gao af
aAfereeH B 7

(1) Na'
Q2 K
(3) Li"
(4) Cs*

frg § & fr oftear o ol w7

(1) 2044 — 30y,

(2) N,O,4— 2NO,y,

(3) CaCOjz4y— CaOy, + COyy,
(4) Ny + 3Hyy — 2NHy,

Level-3/176

91.

92.

93.

94.

In the following reaction :

A—K% , c.H.COOH

[0
here 'A' is
(1) C4H;CH,
2 CsH,NH,
(3) C,H, - NO,
(4) C,H,NH -CH,

When ammonium acetate is heated
with P,0O; the product is

(1) Ethanamide
(2) Ethanenitrile
(3) Methanenitrile

(4) Ethylamine

Which of the following would have
maximum polarizing power ?

(1) Na'

2 K

(3) Li'

4) Cs"

Which of the following process would
lead to a decreases in entropy ?

(1) 2044 — 30,

(2) N3Oyp— 2NOy

(8) CaCOgy— CaOy, + COyy

(4) Ny + 3Hy, — 2NH;

P00



95.

96.

97.

98.

99.
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F=1 7 & 59 @@ & are 2% waT &
99 K;[Fe(CN)] 3 are &% %9 &
O % G en ?

(1) K,S0,
@ KCl

(3) Al(SO,),
(4) AUNOy),

n-e H FANF W@ qEwF G
(1) 9o wiafa (fwe)
(2) qiaRd

(3) &Y
(4) afgg -

=1 4 & f-a1 dfm s
iR 78 qatar & ?

(1) g

(2) ST

@) Wi

(4 FH=

TEEeE oy gewdNTEar e
e ®

(1) aF (2) a9

3) @x (4) g

T T O SerET @
(1) eHdnTs 319 &

(2) ImEFE 39 &

(3) oMfvas B

(4) SRS o F
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95.

96.

97.

98.

99,

Which of the following salt has the
same value of Van't Hoff factor as

that of K, [Fe(CN)g] ?
(1) K,So,

©2) KCI

(3) Al(SO,),

(4) AINO,),

Most stable conformer of n-butane is
(1) Fully staggered (Anti)

(2) Staggered

(3) Skew

(4) Eclipsed

Which of the following compounds
not Friedel-Craft's
reaction ?

does show

(1) Toluene
(2) Xylene
(3) Aniline

(4) Cumene

Maximum covalency of nitrogen is

(1) two (2) three

(3) four (4) five

Sugar is an example of
(1) covalent solid

(2)
3
(4)

ionic solid
molecular solid

amorphous solid



100.

101.

102.

103.

104.

105.
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At St e e e e
EI

(1) EiRes e
(2) wifH® ord
(3) Sefigeh art
(4) freeiedifes ofe

o ¥ fedia fefe & S @

(1) FEfF-A (2 FEfEE-C

@) fEfE-D (4 fEfE-E

A A STHED Foi B AH G S
e ®

(1) BgHg
(3) By N, H,

2) C,N,H,

(4) B;H,

g0 MA@l &0 @ & i gy
fepar = are fysror B |

1) H,+0, (2) N,+0,

@) He+0, (4) Ne+O,

Fadie & &1 wFas &
(1) oEEdE

(2) FAAEA

(3) aTEMTeSI

(4) 1, 3-TSEA

STP W 2 gm &t T4 (WY R = 4)
F ARIGH BRT

(1) 22.4dm*
(2) 11.2 dm°
(3) 5.6 dm®
(4) 2.0dm®
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100.

101.

102.

103.

104.

105.

A

Compound which gives test with
Tollen's reagent is

(1) Acetic acid
(2) Formic acid
(8) Benzoic acid

(4) Phenylacetic acid

Example of water soluble vitamin is
(1) Vitamin-A (2) Vitamin—-C
(3) Vitamin-D (4) Vitamin-E

The compound known as inorganic

benzene is
(1) B;H, (2) C;N;H,
(3) ByN;H; (4) B, Hg

A mixture used for respiration by the
sea divers is

(1) H,+ 0O,
(3) He+ O,

(2) N+ 0O,
(4) Ne+ O,

The monomer of neoprene rubber is
(1) Isoprene

(2) Chloroprene

(8) Vinylbenzene

(4) 1, 3-butadiene

At STP 2 gm of helium gas (atomic
mass = 4) occupies a volume of

(1) 22.4 dm’

(2) 11.2 dm°

(3) 5.6dm®

(4) 2.0dm®

P.T. O.
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106.

107.

108.

109,

110.

111.
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Fr1 & & o oeig foegs & Rwig
JeAaT B 7

(1) 0.1 M Al(SO,),

(2) 0.1M AICI,

(3) 0.1 M BaCl,

(4) 0.1M NH,CI

= 7 @ sggeEE o] @ wae #i

(1) B, 2 C,

(3) N, (4) F,

=1 8 8 #-d oidisr o spa qen
o o ® HHI &R F TE FaER
FA & ?

(1) H;0" (2) HSO,

(8) SO~ (4) COz*~

CaOCl, ¥ 9  gomopel @
SRR e et @

(1) g9 2 -1

(3) +1 (4) —1 T +1

9E R A BraE g A T
¥ %5 'd' g 787 &

(1) [Fe(CN)g™

(2) [Co (NHyg™

(3) [MnO,)”

@) [Cr (H,0)4"

=1 § & R o & pKa & O
=1 &rm 7

(1) Mg o

(2) o-AfTESIEH 3T

(8) m-ARYTENTH o

(4) p-AfEEogH o7
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106.

107.

108.

109.

110.

111.

Which of the
solutions has the higher freezing point ?

(1) 0.1 M Al,(SO,),
(2) 0.1 M AlCI,

(3) 0.1 M BaCl,
(4) 0.1 M NH,CI

following aqueous

Select the molecule

among the following
(1) B, (2 G,
(3) N, (4) F,

paramagnetic

Which species acts as an acid and
also a conjugate base of another
acid ?

(1) Hy0'
(3) SO.2-

(2) HSO,

(4) CO~
Oxidation state of chlorine atoms in
CaOCl, is

(2) -1

(4) -1 and +1

(1) zero
(3) +1

The complex ion which has no 'd'
electrons in the central metal atom is

(1) [Fe (CN)J"™
@) [Co (NHy)l™
(3) [MnO,]

@) [Cr (H,0)]"

Which of the following acids will have
lowest value of pKa ?

1)
(2)
(3)
(4)

benzoic acid
o—methylbenzoic acid
m—methylbenzoic acid

p—methylbenzoic acid



112.

113.

114.

115.
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CH, @ C,H, % fdee g o
400 T 680 kcal mole ¥| FARET
C—C 9 FI Q== St a1 & ?

(1) 280 kcal mole™
(2) 200 kcal mole™
(3) 80 kecal mole™
(4) 340 kcal mole™

95T feEs ®

(1) NaCl/HCI

(2) HCOOH/HCOOK
(3) K,S0,/H,S0,

(4) NH,0H/KOH

e g SR & -
.~ HNO,— NO; +NO
(1) 7T H SHTFdiETeT 2 &

(2) LIS H FIGE Bl 2

(3) TSI @ SAFIBCT d  HGFIH
2 &

(4) TESSH T ar ST A §
T HTEEA

e ot oifferamett @ =9 § @ g
&l FUF F TIF FIQ -

(8) Ly +2e > 2[ 7, ; E°=0.53V
(b) Bryy+2¢ = 2Br ,,; E° =107V
(©) Clyy+2 — 2CT ,p; E° = 1.36V

aq)

(1) Br,, I~ &l ST &l #T gt~

2

(2) Cl,, Br~ & ST & aad ¢
W I~ & T

(3) I, Cl™ %1 {7 HT Tl &

(4) Br, I~ 1 SAfEHO X TFd &
qtg CL~ &l el
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112.

113.

114.

115.

A

The dissociation energies of CH, and
C,H, are 400 and 680 kcal mole™
respectively. The dissociation energy
of C—C bond would be

(1) 280 kcal mole™
(2) 200 kcal mole™
(3) 80 keal mole™

(4) 340 keal mole™

The buffer solution is
(1) NaCl/HCI

(2) HCOOH/HCOOK
@) K,S0,/H,S0,

. (4) NH,0H/KOH

In the following unbalanced reaction :
HNO, —» NO; + NO
(1) Nitrogen is oxidised
(2) Nitrogen is reduced
(3) Nitrogen is oxidised as well as
reduced

(4) Nitrogen is neither oxidised nor
reduced '

Consider the following half reactions
and select the correct statement :

(@) Ly +2¢ > 21 ,,; E°=0.53V
(b) Bryy +2¢” — 2Br,,; E° =107V
(€) Clygy+2e— 2Cl 5 E° =136V

(1) Br, cannot oxidise I~
(2) Cl, can oxidise Br  but not I~

(3) I, can oxidise CI~
(4) Br, can oxidise I~ but not Cl~

P. Q.



116.

117,

118.

119.

120.
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uRwiie @ CH,MgBr & ot #
AT d FqeYed A g AP
2

(1) n-Hife UehE

(2) TS

(3) wEFT

(4) STEANITY Ype

CH,MgCl %t D,0 ¥ afufrar 4 ura

. IS B

(1) CH,OD

(2) CD,0D

(3) CD,

(4) CH,D

Fre & @ frm Ypeta &t ol g
qaiE 8 7

(1) TR Tepreta

(2) STEEMINT Yehel

(3) t-Sfes Tepiera

(4) Fromifes Yeprere

Frt & & #9-a1 9% Swafse o
ST § 7

(1) C,H,NH,

(2) C,H,NH,'Cl"

(3) NH,CH,COOH

(4) HOCH,COOH

PR RS ¥ HWR P ey
SEHIHT B AT Cu,0 F Cu

qeE 1 3 E[r & @
(1) #H 2 Co
3) SO, (4) Cu,S
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116.

117,

118.

119,

120.

Reaction of ethylformate with excess
of CH;MgBr followed by hydrolysis
gives

(1) n—propyl alcohol
(2) Ethanol
(3) Ethanal
(4) Isopropyl alcohol

CH;3MgCl on reaction with D,0 gives

(1) CH,0D
(2) CD,0D
(@) CD,

(4) CH,D

Which of the following alcohols is
most acidic in nature ?

(1) ethyl alcohol
(2) isopropyl alcohol

(3) t-butyl alcohol

(4) neopentyl alcohol

Which of the following compounds
form zwitter ion ?

(1) C,H;NH,

(2 C,HNH,Cl-

(83) NH,CH,COOH

(4) HOCH,COOH

In extraction of copper from copper
pyrites, during bessemerization Cu,0O
is reduced to Cu by

(1) Coke (2) CO
(3) SO, (4) C_ugS



121

- 122,

123.

124.

125.

aEtRdedE §  FEa aget @
YT T

(1) sp® g sp 2) sp?

(3) sp® (4) sp g sp*

et & KHSO, & |19 3&ad &
w e o B

(1) SR ova

2 Uhiteers

(3) Ufee Ueehiere

4) PR v

Ofccerge & AT s Rrew
JAMETT B 7

(1) e Sfoeras

(2) REgaed e
(3) A& HaIH

(4) fEedl wioramgs
Pt & @ ol sffrandier a9 @

(1) Be
(8) Mg

(2) Ba
(4) Sr

P oo & -

Cl, + H20—>.HOC£ + HCI
(1) T offerdiga Bt 8
(2) T Y=g el &

(3) T offFdga st ERft B @
SqEgd W

(4) FGT T A Sl ®
HITEA
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121.

122.

123.

124,

125.

)

A
The hybridization of carbon atoms in
vinylacetylene is :
(1) sp® and sp (2) sp*
®3) sp’

Distillation of glycerol with KHSO,
gives

(4) sp and sp®

(1) oxalic acid
(2) acraldehyde
(3) allyl alcohol

_(4) mesooxalic acid

Formation of Hemiacetal from a
aldehyde is an example of

(1) Nucleophilic substitution
(2) Electrophilic addition
(3) Nucleophilic addition
(4) Electrophilic substitution

The most reactive element among the
following

(1) Be
(3) Mg

(2) Ba
4) Sr

In the following reaction :
Cl, + H,0 —» HOC!l + HCI

1)

chlorine is oxidised
chlorine is reduced

(3) chlorine is oxidised as well as

reduced

(4)

reduced -

chlorine is neither oxidised mor

¥ e
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126. P & & Bra o] & spd ol

127,

128,

129.
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TET R 7
(1) NH,
@ H,0
(3) SF,
4) SiF,

Prfad e st & Fro -
PCly, = PCly, + Cly,
Frer 3 3 e (AR @ 7

(1) AH>0 991 AS<0
(2) AH=0 T AS<0
(3) AH>0 a1 AS>0

(4) AH<0 @I AS<0

o-STZHM & SieHIeTed 4 e g
BT &

(1) AT
(2) i
(3) SR

(4) WAFE, AR
SEHTATAES & e

ar

= A el o R FEe ?

(1) e Frihera

(2) AT FraiBera
(3) t-oF[ea FEHeET
(4) U FraiperaT
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126.

127,

128,

129.

Which of the following molecule is
not sp? hybridized ?

(1) NH,
@) H,0
(3) SF,
(4) SiF,

For the following gas phase reaction :
PClyg = PCly, + Clyy,

which of the following conditions is
correct ?

(1) AH>0 and AS<0
(2) AH=0 and AS<0
(3) AH>0 and AS>0

(4) AH<0 and AS<0

Ozonolysis of o-xylene gives

(1)
(2)
3)
(4

glyoxal
methylglyoxal
dimethylglyoxal

mixture of glyoxal, methylglyoxal
and dimethylglyoxal

Most stable carbocation among the
following

(1) ethyl carbocation
(2) isopropyl carbocation
(3) t-butyl carbocation

(4) allyl carbocation



130.

131.
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133.
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A 1 Jarewer Rrad frmdda A=
e JURed ©

(1) CH,CH,COCH,

(2) CH,COCH,CH,COCH,

(3) CH,COCH,COCH,

(4) CH,COCH,

quett & gm R HEer s
99 ©

(1) BeCl,, SnCl,

(2) XeO, CF,

(3) XeF, CF,

(4) CO,, SO,

T Qe B9 9 Egiee Bl qifead
% g e feEr omn B, @ e
IHCACE RIS

(1) NaNO,  (2) NaNO,

(3) NaCN (4) NaNH,
frefofaa o fres & sEgie qae
M S E P

(1) CgHsNH,

2) I
(8) CgHyNOq
(4) CHs-NH,

Frt & $F-1 B9 81 787 & 7

(1) :NH,
3) H,S

) :PH,
(4) :CH,

10° M NaOH f&@q 3 pH &1 99
2T :

1) 6

@ 8

(3) 79
(4) 79 A¥F
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130.

131.

132.

133.

134.

135,

* (3 st

A

in which
reactive methylene group is present
(1) CH,CH,COCH,

(2) CH,COCH,CH,COCHj,4

(3) CH;COCH,COCHj,4

(4) CH,COCHj,4

Example of compound

The pair of molecules with same
hybridization is

(1) BeCl,, SnClI,

(2) XeO,, CF,

(3) XeF,, CF,

(4) CO,, SO,

For the elemental detection when
nitrobenzene is fused with sodium,
the compound obtained is

(1) NaNO, (2) NaNO,

(3) NaCN (4) NaNH,

Biuret test is shown by the following

(1) CgHzNH,
(2) Urea

(3) CgHzNO9
(4 CH3-NH,y

Which of the following is not a Lewis
~ base? '

(@ :PH, . ‘
(4) :CH, ‘

(1) :NH,

The pH of 10° M NaOH solution is | R

1) 6

@ 8

(3) less than 7
(4) more thati 7




A

136.

137.

138.

139.

140.

141.

http://haryanatet.com

(28)

= # ye@aq o) ®

() F~
(3) Br-

(2 CI-
4) I

U AR @ X feris

(1) E, ¥ g § gear ?

(2) E, % 9e1 § g &

(3) E, & 9 WX Fslx 78 Fear ¥
(4) @9 P g F 1T g &

=1 a/g & fog
Clyg + 2NO,, = 2NOCl,,
NOCI, %! @ # gig 8, A

(1) Cl, forg s
(2) NOCI f@mar sy
(3) NO &1 Sq
(4) Cl, &8 Y

Frer & @ ol (T wis) @1 Pie-a
T ol ddy g § ?

(1) 9,17
3) 4,13

Fer & @ 3-8 998 ® ofp e
q9g Tatfes S g ?

(1) -CH, (2) - OCH,
(3) - NH, (4) —OH

(2) 6,14
4) 17,15

Wb FAd O @EA & f deE
AT F A BT B

(1) 52.4% (2) 68.04%

(3) 74.0% (4) 82.04%

Level-3/176

136.

137.

138.

189.

140,

141.

among

The strongest base the
following is

(D £~ 2 Ci-

(3) Br- 4) I”

The rate constant of a reaction

(1) decreases with increasing E,

(2) decreases with decreasing E,

(3) is independent of E,

(4) decreases with increasing

temperature

For the following equilibrium :
Clyg +2NO,, = 2NOCl,

the concentration of NOCI, will
increase if the equilibrium is
disturbed by

(1) adding Cl,

(2) adding NOCI

(3) removing NO

(4) removing CI,

Which pair of the elements (atomic
number) shows diagonal relationship ?
(1) 9 17 (2) 6,14

(3) 4,13 (4) 7,15

Which of the following groups shows
most strong o/p directive influence ?

(1) —CH, (2) - OCH,

(3) —NH, (4) - OH

The packing efficiency for face
centred cubic structure is

(1) 52.4% (2) 68.04%

(3) 74.0% (4) 82.04%



142. ©F 9 9 P aEar v @@ oauid

143.

144.

145.

146.
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S B

(1) AG/AS
(2) AG/AH
(3) AS/AG
(4) AH/AG

YA STt & g B

(1) BeCl,, SnCl,

(2) BF,, CIF,

(3) CO,, SO,

(4) BeCl,, HgCl,

ufef NaNO, + & HCl & 0 - 5°C
W B #%@ o AME A a0 & S

fF ERUPRERRE o & UEid B}
Ba3am2 9w A @B E

(1) C¢HyNO, T C.HyN,Cl
(2) CsHyN,Cl W@ CiHN,PO,
(8) CzH,N,Cl T C,H,

(4) C4H;NO, W& CyHj

frr & | pga ageis s ® 7

(1) H,0 2 H,S

(3) H,Se (4) H,Te

M9 zed oE & [T g&9 &9 9§

JaeEd m 2
(1) COo @) Co,

(3) O 4) SO,

Level-3/176
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142.

143.

144.

145.

146.

A

The efficiency of a fuel cell is given by

(1) AG/AS
(2) AG/AH
(3) AS/AG
(4) AH/AG

A pair of non-polar molecules

(1) BeCl,, SnCl,

(2) BF,, CIF,

(3) Co,, SO,

(4)+.BeCl,, HgCl,

Aniline reacts with NaNO, + dil HCI
at 0 -5°C to give a compound A which
on reduction with hypophosphorous

acid gives compound B. Identify
compound A and B

(1) C4HyNO, and C;HN,Cl

(2) Cg¢HgN,Cl and CgHy;N,PO,

(8) C¢HgN,Cl and CiH

(4) C4HzNO, and CgH,

Which of the following has the lowest
boiling point ?
(1) H,0 (2) H,S

(3) HySe (4) H,Te

The gas mainly responsible for green
house effect is

(1 Cco @ CO;

(3) O (4) SO,

P10,
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A (30)
147. =1 siffen &1 @&t oo @ 147. The correct product of the following
' reaction is
R-C=C-R —t2, g R-C=C-R —22 Product
Pd+C Pd+C :
(1) e (1) Alkane
(2) e (2) Trans-alkene
(3) THGH-UhI (3) Cis-alkene
(4) T99 7 fager Teht @ e (4) Mixture of Cis- and Trans-alkenes
148. =1 § @ 39 oM sifufEar 78 148. Which of the following does not
gamtar & ? exhibit iodoform reaction ?
(1) U Fiem . (1) ethylmethyl ketone
(2) STEEWING YwhrEra (2) isopropyl alcohol
(3) AT Vel (3) isobutyl alcohol
(4) 3-Af-2-g2N (4) 3-methyl-2-butanone
149. TS99 oT<ig Wiy o EHEE R ?@a 149. Electrolytic reduction of nitrobenzene
Gm HAGFET | 9T e in strong acidic medium gives
(1) ofE (1) aniline
(2) U (2) azobenzene
(3) p-UHMITHATE (3) p-aminophenol
(4) %ﬁﬁﬂigﬁﬂﬁﬁ'fﬂ:f (4) phenylhydroxylamine
150. hedl aﬁf % FR AMF 31 F g 150. Due to Frenkel defect the density of
ionic solid
(1) Eﬁ?ﬂ% (1) increases
(2) Hedr E . (2) decreases
(3) WM & © | (3) remains same
(4) 3B § gear %, %8 § el & (4) in some cases increases and in
some cases decreases

Level-3/176
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HS

1V,

10.

11.

12

13.

14.

15.
16.

17.
18.

19.
20.
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gl @ O, SR e ¥ PuiRa @E @ e/
g @rge 9 9 goiaar srer s 2, O 5 AR
faamar mar & -

O e B® o

3 g1 A T SR Tera wAr Wi, afe 9eR arel
WA B 9 yoR § AT §

© ® © @
fe U | WeT WEl Y AR 2 € Al audT SR Ted

. X% B qde gRaer § 39 waoE & oy & @

THTE W B B |

. Wl ITR B OMR IR TFF W @ IifFa #¥ | o

i 3ifPd H| ITR qGeM B WA WIE
(Te Toge) &1 vanT fftg ¥

. TR@F g @ forg Ry v A Reedl § @ SR Rew

5

fort OMR 9o 93& 1R UF 99 3 & [ N
%/mﬁamﬁ?ﬁﬁ;wmﬁw&ﬁ:@m
® 915 S qCaT T8 O Har ¢ |

oRfRerfy & e gRder @

mﬁm_ﬁﬁéﬁ%ﬂﬁm)mmm

e gyerer 78 searg wroit

qﬁmgﬁHW/ammﬁmwmaﬁ@mﬁﬂﬁ

TP q efont g3 § ford |

argeft @ afen B /wa F gaw e @ afaRea
qreaaHY,

e B ¥ e @ forg ¥ g e
gftpar /fean-fder g O @ wf fm ol
fadw e <) B3R s s o A B T o

e g BN W, anaeft wer /g BisY /@ qf SR
TG T~ Jagy 9 € | AT W T
e gRTPT B A A wHA ¥ |

6.

10.

1.

12,

13.

14.

15.
16.

17.
18.

19.
20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e 0O ®

The answer will be treated wrong, if it is marked, as
given below :

o ® © @

If you fill more than one circle it will be treated as a
Wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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